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B.Com. (Part-II)

EXAMINATION, 2021
Group-II : Compulsory)

Paper First
COST ACCOUNTING
Time : Three hours
Maximum Marks : 75
Wl Gre geI @ SR {IVY | G §PIE W Vb o
YT S & FH T B 3P FHT &
Attempt all the five questions. One question from
each Unit is compulsory. All questions carry equal

marks.

goIE-1

Unit-1

TN @ik el feheel TR Fegierdl el Giered § fereremr
I | 7.5+7.5
Discuss in brief any four methods of  Cost
Accounting.
I bl A=Y ST YoTTe! &t e shiforg |

[P.T.O.]
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Discuss Perpetual Inventory system of materials.

3241

OR

frafafaa faerer & Sad 2017 918 &1 9RgE SEd
T TS & 9 @1 A e e gu S @
10 | 15
From the following information prepare Stores
Ledger Account. Showing the issue price of materials
on the basis of weighted Average Price Method for
the month of January :

.Jan1 1 9 ®per 50 ThrE <X 30 T gfd Shre

Opening Stock 50 Units @ ¥ 30 per unit

.Jan 5 e 2 T

Issued 2 Units

.Jan 7 T 48 ZpsAt <X 40 3 ufd T

Purchased 48 Units @ ¥ 40 per unit

. Jan 9 T 48 TeRrEar

Issued 48 Units

.Jan 19 T 76 sHrsar X 30 3 Ufd I

Purchased 76 Units @ 30 per unit

. Jan 24 9 Sl & frifea gesal ® @ 19 gaTsat

©E | a9q U g
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Received back in stores 19 units out of the production department A, B and C being Rs. 8000,
units issued on 9th January Rs. 9000 and Rs. 7000 respectively  before
distribution.

3. Jan 27 e 10 T2t

. feramT ERICSREEIN ar favmr
Issued 10 Units

Department Production Department Despezf;/tirflznt
9. Jan 29 @ e &1 & SR A & 02
A B C P Q
ZHTZAT HH T T | P 30% | 40% | 20% - 10%
. : Q 30% 30% | 20% | 20% —
2 Units of materials loss was revealed on
January 29 during stock verification. (%0) 8000 | 9.000 | 7.000 | 6,000 | 4.000
STPIS—2 Overheads
(Rs.)
Unit-2
Iqd 92 HO b ol qar fauer € e st sterat
Uil @ A 6000 9T TF 4000 B9F & o . OR
et srifea e § R ow dr Frwia (37) STl U ST 47 Y WA | 75
RIS STER T T | Explain Direct and Indirect labour.
ABC e fasimeit & g Sufeardt &1 o i — (7) e oo 2 5 Fenf =it e € 75
7€ HI T %m;q & ?f RmT A, B 1E C & How Machine Hour Rate is determined ?
AT T 8000 W, 9000 FUF W 7000 TR | P13
Betul Wood Company has two service Departments Unit-3 .
with respective totals of Rs. 6000 and Rs. 4000 at 3. XYZ fafaez 5 foar 7% #4000 Thredi % dcHla
overhead to be apportioned on inter-service F B AT T & qar fefofad gaam Suee
departmental basis of percentage given in the chart : T—

Find out Compute the total overhead of production
department A, B and C assuming the totals of
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XYZ Limited has undertaken a contract for the
manufacture of 4000 units and the following
information have been obtained :

AT @ (Materials Cost) ¥ 30 Ui ga1€ (Per unit)
JE Al < 25 Ui 31 (Direct Wages I 25 Per unit)
faspa g X 75 9 18 (Selling Price I 75 Per unit)

(1)
2)

(1)
(2)

Iuited g9R | enfha & (1) Rer =33 30000

(@) ufad=siar =@ 3 18000 (W) stguiad=siiar ==
(50% f=R) ¥ 12000

il IS @9l T0AT BT |

qfcl 318 W T BT AfE 5000 FehrsAl MIHT @bt St
2l

T e SuRted T9R Ydeh &Y 9T ARt @l 2 |
The overhead charges consist of (A) Fixed expenses
¥ 30000 (B) Variable expenses % 18000 (C) Semi
Variable expenses (of which 50% is fixed ¥ 12000.
Calculate the profit per unit.

What would be the Profit per unit.

If the number of produced articles are 5000 units. The
total fixed overhead charges remain unchanged at all
levels.

34T
OR
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ST QAT TR I qHT AT {ohA-fobeT weaget famgat
0 AT ¥ @RI ? A1) (PRI 1) 2l 9T S
i # fhe TR & A & ¢ g8 faes # e uer
fe@man S & 7 JHeEd |

What important points should be kept in mind in
preparation of Contract Account ? How is
work-in-progress calculated in contract Account ?

How is it shown in the Balance Sheet Explain ?

IS4

Unit—+4

U IO SERT 61 IATeH & Ufshansti | or Y HiHd
A ol i  wéaar & fUed vd 9 98 9ol Iadm &
for fskamstl # & 389 YR BT 8—
gfskar M ¥ gfaee gahrdl 1 5%
qishdl N # 9iae ehrsdi &1 10%
UihAT M & &1 i AT ST H IR I 8 B
gt 100 g1 & Ud yiskar N # fasha 907 10 B9 gfa
100 3T 2|
A Manufacturing Company’s product passes through
two district process, then to finished stock. It is
known from Past experience that westage occruing in
the process is as under :
In process M 5% of the units entering the process.
In process N 10% of the units entering the process.
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The scrap sales value of the wastage in the process M
is Rs. 8 per 100 units and in process N is Rs. 10 per
100 units.

UhaT T 3T BRI 39 YhR df—
The Process figures were :
gfskar M gfeear N
Process M Process N
3 3

i Gl 2,000 1,600
(Material Consumed)
LEER) 2,400 2,000
(Wages)
T g 1,000 1,000
(Other Expenses)

qishal M & 600 B9 el AT & 1200 Sh1eT 9Z &8 |
JATET g9 YbT T|l—

gfskar M ® 1100 ZHEat qon

gfskar N # 950 sehreal

giehar @Td Ud S{E &F Gral 91y |

1200 Units were brought into process M costing Rs.
600. The output were :

Process M 1100 Units

Process N 950 Units.

Prepare Process Accounts and Abnormal Loss
(Wastage) Account.
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(1)
2)
€)

(4)

(1)

3441

OR
Write short notes : (any three) 5x3=15
@ g Log Book
RIS < fhdiHIe U anforoa 2 fohariex |
11 G MG 1 B e o B G 1 £ MG 2 R ) o2
Classification of Cost in Operating Cost.

IRATAT AN @b H AN ShTS |

3PS5

Unit-5

Lers e o e e e e 2 e s | A G I TG R B G
fopd STt 2 7.5
Give such income items which are not shown in Cost
Account ?
IR Uehighd @i T & ? G | 7.5

What is Non integrated system of Accounting ?
Explain.

3AdT
OR
=T 3ftepst | o1 HifoTa— 15
Calculate from the following data :

AT AT ST |
(Profit Volume Ratio)
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(2) @ 99 faspr 8000 3 21 |
(Profit when sales in ¥ 80,000)
(3) ST faRa I 20% ®H X & ST ar =1ar auiawe

fag |

New Break Even Point when sales price is reduced
by 20% .

%’ @ Fixed Cost < 20,000

T fq=dg fa=g Break Even Point 3 50,000



